
1.

u = [2, 1]

w = [2, 1 ,−2, 2, −2 ,−1, 2, 2]

This is a comment. LATEX is allowed. If you zoom in enough, the minors/matrices actually become readable.
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∆3,1(Z0) = x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1

∆3,1(Z0) = x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1

∆23,12(Z0) = x1x4x7x8y3y6 − x2x7x8y3y6 − x1x4x7y3 − x1x4y3y6 − x1x8y3y6 + x2x7y3 + x2y3y6 + x1y3 + y3y5 − 1

∆23,12(Z0) = x1x4x7x8y3y6 − x2x7x8y3y6 − x1x4x7y3 − x1x4y3y6 − x1x8y3y6 + x2x7y3 + x2y3y6 + x1y3 + y3y5 − 1

∆3,1(Z1) = x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1

∆3,1(Z1) = x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1

∆23,12(Z1) = (x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1)y3

∆23,12(Z1) = (x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1)y3

∆2,1(Z2) = y3

∆3,2(Z2) = x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1

∆23,12(Z2) = (x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1)y3

∆23,12(Z2) = (x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1)y3

∆2,1(Z3) = 1

∆3,2(Z3) = x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1

∆23,12(Z3) = x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1

∆23,12(Z3) = x4x7x8y6 − x4x7 − x4y6 − x8y6 + 1

∆2,1(Z4) = 1

∆3,2(Z4) = x7x8y6 − x7 − y6

∆23,12(Z4) = x7x8y6 − x7 − y6

∆23,12(Z4) = x7x8y6 − x7 − y6

∆1,1(Z5) = 1

∆3,2(Z5) = x7x8y6 − x7 − y6

∆13,12(Z5) = x7x8y6 − x7 − y6

∆23,23(Z5) = 1

∆1,1(Z6) = 1

∆3,2(Z6) = x7x8 − 1

∆13,12(Z6) = x7x8 − 1

∆23,23(Z6) = 1

∆1,1(Z7) = 1

∆3,2(Z7) = x8

∆13,12(Z7) = x8

∆23,23(Z7) = 1

∆1,1(Z8) = 1

∆3,2(Z8) = 1

∆13,12(Z8) = 1

∆23,23(Z8) = 1
1 3 4

6

7 8

X0 =
[

x2 −x1 1
−x4x7+1 x7 0

x4x7x8−x4−x8 −x7x8+1 0

]
X1 =

[
x2 −1 0

−x4x7+1 0 x7
x4x7x8−x4−x8 0 −x7x8+1

]
X2 =

[
1 0 0
0 −x4x7+1 x7
0 x4x7x8−x4−x8 −x7x8+1

]
X3 =

[
1 0 0
0 −x4x7+1 x7
0 x4x7x8−x4−x8 −x7x8+1

]
X4 =

[
1 0 0
0 −x7 1
0 x7x8−1 −x8

]
X5 =

[
1 0 0
0 −x7 1
0 x7x8−1 −x8

]
X6 =

[
1 0 0
0 −x7 1
0 x7x8−1 −x8

]
X7 =

[
1 0 0
0 −1 0
0 x8 −1

]
X8 =

[
1 0 0
0 0 −1
0 1 0

]

Y0 =
[ y3y5−1 y5 0

−y3y6 −y6 1
y3 1 0

]
Y1 =

[ y3y5−1 y5 0
−y3y6 −y6 1
y3 1 0

]
Y2 =

[ y3y5−1 y5 0
−y3y6 −y6 1
y3 1 0

]
Y3 =

[
y5 1 0
−y6 0 1
1 0 0

]
Y4 =

[
y5 1 0
−y6 0 1
1 0 0

]
Y5 =

[
1 0 0
0 y6 1
0 −1 0

]
Y6 =

[
1 0 0
0 1 0
0 0 1

]
Y7 =

[
1 0 0
0 1 0
0 0 1

]
Y8 =

[
1 0 0
0 1 0
0 0 1

]

Z0 =
[ x4x7x8y5−x4y5−x8y5−x2 −x7x8y5+x1+y5 −1
−x4x7x8y3y5+x4x7x8+x4y3y5+x8y3y5+x2y3−x4−x8 x7x8y3y5−x7x8−x1y3−y3y5+1 y3

x4x7x8y6−x4x7−x4y6−x8y6+1 −x7x8y6+x7+y6 0

]
Z1 =

[
x4x7x8y5−x4y5−x8y5−x2 1 −(x7x8−1)y5

−x4x7x8y3y5+x4x7x8+x4y3y5+x8y3y5+x2y3−x4−x8 −y3 (x7x8−1)(y3y5−1)
x4x7x8y6−x4x7−x4y6−x8y6+1 0 −x7x8y6+x7+y6

]
Z2 =

[
−1 (x4x7x8−x4−x8)y5 −(x7x8−1)y5
y3 −(x4x7x8−x4−x8)(y3y5−1) (x7x8−1)(y3y5−1)
0 x4x7x8y6−x4x7−x4y6−x8y6+1 −x7x8y6+x7+y6

]
Z3 =

[
0 x4x7x8−x4−x8 −x7x8+1
1 −(x4x7x8−x4−x8)y5 (x7x8−1)y5
0 x4x7x8y6−x4x7−x4y6−x8y6+1 −x7x8y6+x7+y6

]
Z4 =

[
0 x7x8−1 −x8

1 −(x7x8−1)y5 x8y5
0 x7x8y6−x7−y6 −x8y6+1

]
Z5 =

[
1 0 0
0 −x7x8+1 x8
0 x7x8y6−x7−y6 −x8y6+1

]
Z6 =

[
1 0 0
0 −x7 1
0 x7x8−1 −x8

]
Z7 =

[
1 0 0
0 −1 0
0 x8 −1

]
Z8 =

[
1 0 0
0 0 −1
0 1 0

]
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